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QUESTION 1

Which statement is true about the groom feature? 

A. Groom allows the user to add row level security. 

B. Groom validates primary key constraints on the table. 

C. Groom reorders rows based on the DISTRIBUTE ON clause. 

D. Groom allows the user to reorganize tables based on the ORGANIZE ON clause. 

Correct Answer: D 

 

QUESTION 2

In order to set a runaway query event to trigger when a query runs longer than two minutes, which two items must be
configured? (Choose two.) 

A. The runaway query event was enabled. 

B. The pg.log file was configured for two minutes. 

C. The runaway query event was configured for two minutes. 

D. The nzsystem command was used to set the QUERYTIMEOUT to two minutes. 

E. The CREATE USER command was used to set the QUERYTIMEOUT to two minutes. 

Correct Answer: AE 

 

QUESTION 3

OLE-DB based applications requires which PureData System for Analytics software? 

A. Install the JDBC driver for windows. 

B. Install the ODBC driver for windows. 

C. Install the OLE-DB Driver for windows. 

D. Install the nzload bulk load for windows. 

Correct Answer: C 

 

QUESTION 4

What is the function of the Distributed Replicated Block Device (DRBD)? 
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A. High Availability 

B. Load Balancing 

C. High Concurrency 

D. Work Load Management 

Correct Answer: A 

 

QUESTION 5

An ETL/ODBC application is inserting 1 million records in a single transaction against the PureData 

System for Analytics. 1 million individual INSERT SQL statements are generated. 

What can make this faster? 

A. Use a COPY command. 

B. Use an EXTERNAL TABLE. 

C. Increase the Socket Buffer Size. 

D. Set the COMMIT interval to 10,000. 

Correct Answer: B 
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